Cetka(1,1) Ctpanuvua 1 n3 36 / /




LCeTKa (1,2)

CTpanuvua 2 n3 36




j\)CeTKa(l,3)

Ctpanuvua 3 n3 36




Cetka(2,1) CTpanvua 5 n3 3j




LCeTKa(Z, 2)

CTpanuvua 6 13 36




j\)CeTKa(ZJ)

;;/pamu%3 36




j\)CeTKa (2,4) Ctpanuvua 8 n3 36



Cetka(3,1) / / Ctpanvua 9 u3 36




LCeTKa(&Z)

Ctpanuvua 10 u3 36

[/




j\)CeTKa(3,3)

Crpanuvua 11 u3 36







Cetka (4, 2)

Ctpanuvua 14 us 36




j\)CeTKa(S,Z)

N

Ctpanuvua 18 us 36




j\)CeTKa(SJ)

CTpaHv\u.a 19 v*a 36




j\)CeTKa(6,2)

|

Ctpanuvua 22 u3 36




j\)CeTKa(6,3)

Ctpanuvua 23 u3 36 \ \




Cetka(7,1) Ctpanuvua 25 us 36




j\)CeTKa(L 2)

|

Ctpanuvua 26 us 36




j\)CeTKa(7,3)

Ctpanuvua 27 us 36




j\)CeTKa(S,Z)

Ctpanuvua 30 us 36




LCeTKa(SJ)

Ctpanuvua 31 u3 36




LCeTKa(9,3)

Ctpanuvua 35 u3 36




